| total events O=anyInput 8=anyAccept |

Entries 240045

| L2 time used per input event

Entries 364412

5 Mean 5.167 " Mean 63.89
lo ------------------------------------------------------------------------- — -
RMS  3.399 000 — RMS 9735
g L
4 >
107 S T 20000+ i
g R . -
10 L5000+ #]-h-eeerebermenene e
102 ''''''''''''''''''''''''''''''''''''''''' 10000__ ......................................................................................
10 SR i R R S0 o
IIIIiIIIIiIIII O_Illlillll:IIlilIIIiIIIIiIIIIiIIIIiIIII
1O 1 2 3 4 5 6 7 8 9 0 50 100 150 200 250 300 350 400
Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd x: time (CPU kTics)
|rate of input events Entries 80000 4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 43
2000 =7 T EEEEEEEEEEELEEERE T | Mean 98.71 < —{Mean 99.42
T -y H H H H T
o L : : : : |RMS 24.21 o IRMS  24.99
g | E
SLB00 e e mer e mestr s e 3
i 10
o100 o E e R R SRR LR REEEE CRRREELLRRRRERE
AOO -+ weeeeeemeteremesmreseses b
2100 P
0_ 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500

X: time in this run (seconds)

X: time in this run (seconds)



BTOW tower, Et>2.0 GeV (input)

soft=1+

soft=801+

x: BTOW softiD.

o
x: BTOW softiD.

soft=2401+,

05

Opa

o
Xx: BTOW softiD.

soft=4001+

05

Xx: BTOW softiD.

X: BTOW softiD.



22
2 -
18 .
16 .

crate=1: ==

02 )
0

+128crate

=
g

+128crate

18 S B R
16

crate=3-

x: i=chan+128*crate

06
04
02

i=chan+128*crate

i
Y
i=chan+128*crate




BTOW tower, Et>2.0 GeV (input)

Entries

310

N
o

R~Seclop

o
o

20

OE-H-:_:-

y; phi bi
¥

o

BTOW-East

...................................

.B TOW-West

o T

I-Illi IIIHIIII

0

5

10

15 2

0 25 30 35

X: eta bin, [-1,+1]

40

O-||||||||

-
III|IIIHIII

0

2

4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]

.5




Et Jet1-Jet2 (input) | Entries 80000

> 12
[)) -

10

Jet2 Et/G

I SRS S SR S #25000

I45000

—40000
—35000

—30000

—20000

15000

10000

diJet1 eta-phi (input)]

y: iPhi ~sector

30

20

15

10

0 2 4 6 8 10 2 °
x: Jetl Et/GeV
|diJet phil-phi2 (input) | Entries 80000
30

y: iPhi2 ~sector
N
al

20

15

10

Izsoo

—2000

: 5 qlsoo

— 1000

500

5 10 15 20 25 30
x: iPhil ~sector

|diJet2 eta-phi (input)|

y: iPhi ~sector

w
(=]

N
(&2}

20

15

10

BTOW-West| Endcap

10000

8000

6000

4000

2000

6 8 10 12 14

x: iEta [-1,+2]

Entries 80000
BTOW-West| Endcap

7000
6000
5000
4000

3000

2000

1000

6 8 10 12 14

X: iEta[-1,+2]



Jet2 Et (input) Entries 80000
10° {Mean  0.6287
RMS 0.3601
0 T 8
Y SR S SR S S
102 —f--eeeenn e ;. ............................ Fereeeaeeaanaan e
of-] - S
)

Jetl Et (input) Entries 80000
—|Mean 1.003
RMS 0.7388
P :-T-T-T-T-T-
50 60
x: Et (GeV)
| # BTOW towers>ped+8 (input) | Entries 80000
F Mean 10.35
o) O A A S A S SO S RMS 8.038
7000} T
000
2000 - = s el
1000 == r = = T e e e e e e e
0 [P IR B EPEEE BT B R
0 20 40 60 80 100 120 140 160 180 200
x: # of towers/event
# ETOW towers>ped+8 (input) | Entries 80000
10000 Mean 6.372
RMS 4.465
8000 S S S
6000 ...................................................................................
A000 f— - -+ - e e
p00[0]0] R LR
N T i i i i i i i
0 10 20 30 40 50 60 70 80 90 100

x: # of towers/event

x: Et (GeV)

Entries

—|Mean

80000
4.387
3.241

-{RMS

60
x: Et (GeV)




one-Jet Et (accepted) |

10

Entries

43

one-Jet eta-phi (accepted)

Entries

40

40

35

30

25

20

15

10

50

60
X: jet Et (GeV)

30

y: iPhi ~sector

20

15

10

BTOW-East

.........................
.........................

.........................

D TUYV

Endcap

..........................................................

..........................................................

..........................................................

o

2

4

6 8 10 12 14

x: iEta [-1,+2]

Entries

1 1 1 1 i 1 11 '_i 1 1. i 1 1 1 1 i 1

43

one-Jet eta (accepted) |

43
!40

35
—30
—125

—120

—15

10

Entries

5 10 15 20

25

30
x: iPhi ~sector

40

35

30

25

20

15

10

43

1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 iﬁ 1 i 1

6 8 10 12 14
x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)]

>

Jet2/Ge

12

10

10
x: Jetl/GeV

|diJet phil-phi2 (accepted)]

12

Entries 2

1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0

|d|Jet1 eta-phi (accepted)
T

y: iPhi ~sector

30

20

15

10

0

RTO\/\/ Fa':t

est

<_

[Entries 2]

.........................

.........................

.........................

D

Endcap L
Io.9

.............................

.............................

.............................

0 2 4

6 8 1

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5

10 15 20 25
x: iPhil ~sector

30

Entries 2

1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

[diJet2 eta-phi (accepted)|

y: iPhi ~sector

30

N
(&2}

20

15

10

RTO\AI |:AQ'|‘

WES'[

T | | T | | 1 O
0 12 14
x: iEta [-1,+2]

Endcap

1 1 1 i 1 1 1 i 1 o

0 2 4

6 8 1

0 12 14
X: iEta [-1,+2]



|diJet Et (accepted)|

Entries

—High Et jet

--- Low Et jet

—|Mean

- [RMS

2
10.5

1

0 10 20 30 40

50 60
x: Et (GeV)

|diJet eta (accepted) |

Entries

S
e S

1 SERRROR SRR S

Mean

2
12.5

0

RMS

C | [—HighEtet

Laf b --- Low Et jet

Lo

LJ‘L

Entries

[ SRR e s e eeeam b

JcT:] S SRR -

0.96 oo o -

0.94]—wrvens S -

OgJLJlllLJ L I

X7 I S B -

—|Mean
RMS

11
15

N T T |

"0 5 10 15 20

25 30
x: iPhi ~sector

12 14
x: i Eta[-1,+2]

Entries

.............

C)f:] W e

0.6 eoeee :

)| EE— -

]

.............

0.2 e

e

>
N
I
EC]
>
=
Ca
=
N
N
x_
5
—~
X
_|
%))
<

Mean
RMS

2
21.5
5

.........................

.........................

0 10 20 30 40

50 60

x: delta zeta (rad*10)




; Entries 2 ; Entries 2
|d|Jet delZeta vs. etal (accepted)| Mean x 125 |d|Jet eta2 vs. etal (accepted)| EndealMeanx 125
s F —{Meany 215 = [ BTOW. : eany 85
IS 10 e A R o qal b N L
3 t : ' 0.9 F Tr : , 0.9
= r : 8 F : | »
B B0 R —0.8 B e RERRACTITEEEEEEEPT FUCTIRRRPE FEPETTTOIRS ERPRPRRPRRS R RERRPORRE: ;---End-ﬂ.qp
S : 2T : :
s N —0.7 x 1ol - : —0.7
B A0t Rt R - : :
. o : —0.6 - : : —0.6
> : s :
0 S SRR ~os C : BTéW
n — —0.4 ] ARSIt TP RRS TP RS - ------ e
e o 0.3 - 0.3
L — 4_— """"""""""""""""""""""""""""""""""""""""""""""""""""""
C : 0.2 - 0.2
10_— """""""""""""""""""""""""""""""""""""""""""""""""""""" 2__ __________________________________________________________________________________
N 0.1 - 0.1
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
|diJet delZeta vs. avrPhi (accepted) | Entries 2| |total Et diJet (accepted)] Entries 2
~ M
O eany =" O] S SR R AN SRR SUNURRRO | Y [-Y: Ty 27
'§ - S-S DO 0.9 :
© [T S —0.8 B
s | LT B T ST PP
8 = —0.7 B
£ i
° —0.6 i
> (0] coTETERPRTR SUPURCRRURPEE SRRUN § SERDS F EECPETRTREIY SUSRURPRRRRN TRPSRLRRPLS
Jo.s i
—o.4 04l e
03 .
T e e T 0.2 0.2_— ---------------------------------------------------------------------------------
0.1 L
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 1 1 1 i 1 1 1 1 i 1 1 1 1
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted EE) |

>

Jet2/Ge

12

10

0 2 4 6 8 10 12

x: Jetl/GeV

|diJet phil-phi2 (accepted_ EE) |

Entries 0

|d|Jet1 eta-phi (accepted EE)|

y: iPhi ~sector

30

20

15

10

0

RTO\/\/ Fa':T

.........................

.........................

.........................

DTOUvVV-VvVEe

t Endcap

.............................

0 2 4

6 8 10 12 14

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5 10 15 20 25 30

x: iPhil ~sector

Entries 0

[diJet2 eta-phi (accepted_ EE)|

y: iPhi ~sector

30

N
(&2}

20

15

10

RTO\AI Fncf

DTOUvVV-VvVEe

x: iEta [-1,+2]

t Endcap

0 2 4

6 8 10 12 14

X: iEta [-1,+2]



Entries 0]:
Mean 0|
RMS

— High Et jet
--- Low Et jet

[— Righ Et jet

Low Etjet

...........................................................................................................

[—Righ Et jet

Low Etjet

LLLJJJ Lol LLLLllJJJ 1 l 1 LLLllJJJ l Ll LLLLLJJJ Lol LLLLLJJ

..........................................................................................................

.............................................................................................................

LLJJJJ Lol LLLLlJJJJ 1 l LLLLLJJJJ l Ll LLLLJJJJ Ll LLLLlJJ

|diJet delZeta (accepted EE)|

Entries

(@]

I
S e
S s o S
S e

af

.AZTmhl(JlJZ). .SIGI‘\(K .x S. ). Lo

Mean
RMS

0 10 20

30 T 40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EE) |

Entries

y: delta zeta (rad*10)

60

A
o

20

10

0

0

0

2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet eta2 vs. etal (accepted_EE)|

Entries

14

12

x: iEta2 [-1,+2]

BTOW. Endca

1N
O

[ee]

T grow

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EE) |

Entries
Mean X

y: delta zeta (rad*10)

; Mean y

0
0

.......................

1O

5 10 15 20 25 30
x: (iphil+iphi2)/2 (12 deg/bin)

|tota|

SR N T T N o Epdcap

Entries

1

0.8

0.6

0.4

0.2

Et diJet (accepted_EE)|

:|Mean

0 10 20 30 40 50 60

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted_EB)|

Entries 1

s 12
)

|diJet1 eta-phi (accepted_EB)|

20 BTOW-East] P rovv-vvest

Jet2/G

10

10
x: Jetl/GeV

|diJet phil-phi2 (accepted_EB)|

1
B

12

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0

y: iPhi ~sector

20

15

10

.........................

.........................

.........................

Endcap L
Io.9

.............................

.............................

o

2 4

6 8 1

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5

10 15 20 25
x: iPhil ~sector

30

Entries 1

1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

|diJet2 eta-phi (accepted EB)]

30

N
(&2}

y: iPhi ~sector

20

15

10

D Tovv=vvesSt

T | | T | | 1 O
0 12 14
x: iEta [-1,+2]

BTOW-East

Endcap

1 1 1 i 1 1 1 i 1 o

o

2 4

6 8 1

0 12 14
X: iEta [-1,+2]



|diJet Et (accepted_EB)|

0 10 20

Entries 1

—High Et jet

--- Low Et jet

J-lLJL”LJlllLlLJLJLJILILJLJLJI

—|Mean 115
- [RMS 0

30 40

1

0.98

0.96

0.94

0.92

0 5 10

50 60
x: Et (GeV)

|diJet eta (accepted_EB)|

1

0.98

0.96

0.94

0.92

0.9

0 2 4

Entries

Mean

1
12.5

0

RMS

— High Et je

g oy 1oy gl

--- Low Et jet

le

6 8 10

Entries 1

SR R T R T N

.......................

e Jdoa g

...................................

| IR R BT R R

—|Mean 9.5

:|RMs 0

15 20

25 30
x: iPhi ~sector

|diJet delZeta (accepted EB)]

1

0.8

0.6

0.4

0.2

12 14
x: i Eta[-1,+2]

Entries

Mean
RMS

1
16.5
0

................................................................

................................................................

30 40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EB)| I\Eﬂn”‘es 1 |diJet eta2 vs. etal (accepted EB)| Entries 1
= ean x 125 = Endcapean x 125
s F —Meany 16.5 — BTOW , eany 105
e e ih S SR o N S SO SO TSRS OSSR N S— .
S [ : : 09 <k : 0.9
= T : ~ [ : R
B B0 R —0.8 B e RERRACTITEEEEEEEPT FUCTIRRRPE FEPETTTOIRS ERPRPRRPRRS Foeeeeeeendes EndGap
S T : 20T =
£ r : 07 X | —o.7
B A0t Rt R - :
. - : —0.6 o —0.6
> C 8_
0 S SRR ~os C BTéW
n —0.4 T AR IOt IR RIS SURRE ERREE SRR S —0.4
e o 0.3 - 0.3
L — 4_— """"""""""""""""""""""""""""""""""""""""""""""""""""""
C : 0.2 - 0.2
10_— """""""""""""""""""""""""""""""""""""""""""""""""""""" 2__ __________________________________________________________________________________
- 0.1 - 0.1
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZetavs. avrPhi (accepted_EB) | I\Eﬂr;g:]e)s( 13% |total Et diJet (accepted_EB)| Entries 1
= Mean
S [y v y 16.5 ] R SRR I SUUUURUOS SURURRRRR S | " [-X-1s 29.5
*
'§ - S-S DO 0.9 :
@ [T —o.8 -
A T T T 0.8+ +esmr oo
e = —0.7 B
£ B
° —0.6 i
> O] o R TICALIet I EITRTRI RPN FETRRER PR PR
Jo.s i
—o.4 0al e L
03 .
T e e T 0.2 0.2_— ----------------------------------------------------------------------------------
0.1 -
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 1 1 1 1 i 1 1 1 1 i 1 1 1 1
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

x: Et (GeV)



|Et of Jetl vs. Jet2 (accepted BB) |

>
)

Jet2/G

12

10

10
x: Jetl/GeV

|diJet phil-phi2 (accepted_BB) |

12

Entries 2

1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

0

|diJet1 eta-phi (accepted BB)

30

y: iPhi ~sector

20

15

10

St

BTOW-East

.........................
.........................

.........................

D TUVVEVV

Endcap

.............................

.............................

o

2 4

6 8 1

y: iPhi2 ~sector

30

N
¢

20

15

10

0 5

10 15 20 25
x: iPhil ~sector

30

Entries 2

1

0.9

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

|diJet2 eta-phi (accepted_BB)

30

N
(&2}

y: iPhi ~sector

20

15

10

st

D TUVVEVV

0 12 14
x: iEta [-1,+2]

BTOW-East

Endcap

o

2 4

6 8 1

0 12 14
X: iEta [-1,+2]

1



|diJet Et (accepted BB) |

Entries

—High Et jet

--- Low Et jet

—|Mean

- [RMS

2
10.5

1

0 10 20 30 40

|diJet phi (accepted BB)|

50 60
x: Et (GeV)

|diJet eta (accepted BB) |

Entries

S
e S

1 SERRROR SRR S

Mean

2
12.5

0

RMS

C | [—HighEtet

Laf b --- Low Et jet

Lo

LJ‘L

Entries

[ SRR e s e eeeam b

JcT:] S SRR -

0.96 oo o -

0.94]—wrvens S -

OgJLJlllLJ L I

X7 I S B -

—|Mean
RMS

11
15

N T T |

"0 5 10 15 20

25 30
x: iPhi ~sector

12 14
x: i Eta[-1,+2]

Entries

.............

C)f:] W e

0.6 eoeee :

)| EE— -

]

.............

0.2 e

e

>
N
I
EC]
>
=
Ca
=
N
N
x_
5
—~
X
_|
%))
<

Mean
RMS

2
21.5
5

.........................

.........................

0 10 20 30 40

50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted BB)| I\Eﬂn”‘es 2 |diJet eta2 vs. etal (accepted BB)| Entries 2
= eanx 125 = Endcapean x 12.5
s F —{Meany 215 = [ BTOW. : eany 85
IS 10 e A P R 71 A S Y TSN e,
3 t : ' 0.9 F Tr : , 0.9
= r : 8 F : | »
B B0 R —0.8 B e RERRACTITEEEEEEEPT FUCTIRRRPE FEPETTTOIRS ERPRPRRPRRS R RERRPORRE: ;---End-ﬂ.qp
S : 2T : :
s N —0.7 x 1ol - : —0.7
B A0t Rt R - : :
. u : —0.6 - : : —0.6
> : s :
0 S SRR ~os C : BTéW
n — —0.4 ] ARSIt TP RRS TP RS - ------ e
e o 0.3 - 0.3
- — 4_— """"""""""""""""""""""""""""""""""""""""""""""""""""""
C : 0.2 - 0.2
10_— """""""""""""""""""""""""""""""""""""""""""""""""""""" 2__ __________________________________________________________________________________
- 0.1 - 0.1
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZetavs. avrPhi (accepted_BB) | I\Eﬂr;g:]e)s( 1% |total Et diJet (accepted_B B)| Entries 2
= Mean
S e T y =" ] U S AN SRS SO |\ [~-1y 27
*
'§ - S-S DO 0.9 :
@ [T S —o.8 -
A T T e T ] P T TR
e = —0.7 B
£ B
° —0.6 i
> O] o ] (et I EXTETEI SRR SRR PP PP
Jo.s i
—o.4 04l e
03 .
T e e T 0.2 0.2_— ---------------------------------------------------------------------------------
0.1 -
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 1 1 1 i 1 1 1 1 i 1 1 1 1
b 5 10 15 20 25 30 0 10 20 30 40 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

x: Et (GeV)



